MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

Air System Components, Inc. dba PennBarry
605 Shiloh Rd.
Plano, TX 75074

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform
in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. RER reserves the right
to revoke this acceptance if it is determined by Miami-Dade County Product Control Section that this product
or material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series AC Powered Airette Exhaust and Supply Steel Rooftop Fans

APPROVAL DOCUMENT: Drawing No. 24555-0, titled “Power Airette Exhaust and Supply Hooded
Propeller Roof Ventilators”, sheets 1 through 11 of 11, dated 09/09/2016, prepared by Air System
Components, Inc. dba PennBarry, signed and sealed by Gary T. Hartman, P.E. on 01/25/2022, bearing the
Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and expiration
date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved", unless otherwise
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews and revises NOA # 17-0112.10 and consists of this page 1 and evidence pages E-1 and E-
2, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

/ NOA No. 22-0901.03

% Expiration Date: September 7, 2027
Approval Date: October 6, 2022

Page 1


utrera
New Stamp


Air System Components, Inc. dba PennBarry

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence submitted under NOA # 17-0112.10

A. DRAWINGS
1. Drawing No. 24555-0, titled “Power Airette Exhaust and Supply Hooded Propeller
Roof Ventilators”, sheets 1 through 11 of 11, dated 09/09/2016, prepared by Air
System Components, Inc. dba PennBarry, signed and sealed by Thomas D. Sullivan,
P.E. on 08/14/2017.

B. TESTS
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
along with marked-up drawings and installation diagram of Powered Airette AC
Rooftop Supply Fans, prepared by Intertek/ATI, Test Report No. G2358.01-801-18,
dated 09/23/2016, with revision dated 03/09/2017, signed and sealed by Tyler
Westerling, P.E.

C. CALCULATIONS
1. Anchoring verification calculations prepared by JB & B Engineering Consultants, LLC, dated
08/09/2017, signed and sealed by Thomas D. Sullivan, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 5™ Edition (2014) FBC and of no financial
interest issued by JB & B Engineering Consultants, LLC, dated 04/03/2017 and signed

and sealed by Thomas D. Sullivan, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 22-0901.03

Expiration Date: September 7, 2027
Approval Date: October 6, 2022


utrera
New Stamp


Air System Components, Inc. dba PennBarry

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. New evidence submitted

A. DRAWINGS
1. Drawing No. 24555-0, titled “Power Airette Exhaust and Supply Hooded Propeller
Roof Ventilators”, sheets 1 through 11 of 11, dated 09/09/2016, prepared by Air
System Components, Inc. dba PennBarry, signed and sealed by Gary T. Hartman, P.E.

on 01/25/2022.
B. TESTS
1. None.

C. CALCULATIONS
1. Anchoring verification calculations prepared by ICC NTA, LLC, dated 01/24/2022,
signed and sealed by Gary T. Hartman, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 7™ Edition (2020) of the FBC, issued by
ICC NTA, LLC, dated 01/25/2022 and signed and sealed by Gary T. Hartman, P.E.
2. Statement letter of no financial interest, issued by ICC NTA, LLC, dated 01/25/2022
and signed and sealed by Gary T. Hartman, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 22-0901.03

Expiration Date: September 7, 2027
Approval Date: October 6, 2022


utrera
New Stamp


NOTES:

1.

2.

10.

11.

REVISIONS

REV, DESCRIPTION DATE APPROVED
THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO COMPLY WITH A ~ - -
REQUIREMENTS OF THE FLORIDA BUILDING CODE INCLUDING THE HVHZ.
WOOD AND METAL FRAMING TO BE DESIGNED AND ANCHORED TO PROPERLY
TRANSFER ALL LOADS TO STRUCTURE. FRAMING IS THE RESPONSIBILITY OF THE ARCHITECT OR
ENGINEER OF RECORD.
DISSIMILAR MATERIALS MUST BE SEPARATED WITH APPROVED COATING OR MEMBRANE. SELECTION OF
COATING OR MEMBRANE S THE RESPONSIBILITY OF THE ARCHITECT OR ENGINEER OF RECORD.
ALLOWA 5 REASE OF A T USED IN THE_DESIGN O E PRODUCT
SHOWN BP%EREJ\IR \Srv%NéN OAD %U%ATPO/I\? F\‘/ﬁcsro?la@calite AS USE[ES: FOR WFOgBI ANCH([D}R
CALCULATIONS. A‘
FOR ANCHORING INTO WOOD FRAMING, #12x2" WOOD SCREWS WITH SUFFICIENT LENGTH TO ACHIEVE
A 1 5/8" MINIMUM EMBEDMENT INTO SUBSTRATE. LOCATE ANCHORS AS SHOWN IN INSTALLATION
DETAILS ON SHEET 6 OF 17.
0% NSHIONIS IO, CONCRETE LSEcAten IPFONS MTISHTT SENT BRI 48R 1
ANCHORS AS SHOWN H\WNSTAL ION” DETAILS ON SHEET 6 OF T1. '
FOR ANCHORING INTO. METAL STRUCTURE USE #12 SMS OR SELF. DRILLING SCREWS WITH SUFFICIENT
LENGTH TO %Hi&:\/g 3 THREADS MINIMUM BEYOND STRUCTURE tNTEF@OR WALS_ LOCATE ANCHORS AS
SHOWN IN INSTALLATION DETAILS ON SHEET 6 OF 11.
TABLE OF CONTENTS
ALL FASTENERS TO BE CORROSION RESISTANT. SHEET NI, DESERIPTION
: , 1 GENERAL NOTES

INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH ANCHOR MANUFACTURER'S
xNSTALLAHoN iNSTEUCSHDNS A%ND ANCHORS SHALL NOT BE USEVE/) IN suesmmfg wﬁH S?RENGTHS 2 ELEVATIONS
LESS THAN THE MINIMUM STRENGTH SPECIFIED BELOW: | 3 B, 0, M. POWER AIRETTE 24

A. WOOD — MINIMUM SPECIFIC GRAVITY OF G=0.55 4 B 0. M POWER AIRETTE 48

B. CONCRETE — MINIMUM COMPRESSIVE STRENGTH OF 2,000 PSL 5 B 0 M POWER AIRETIE 77
THIS APPROVAL IS FOR STRUCTURAL PERFORMANCE AND IMPACT RESISTANCE ONLY. INTERIOR / CURB CAP FASTENERS
MECHANISM AND/OR ELECTRICAL CIRCUITRY ARE OUTSIDE THE SCOPE OF THIS APPROVAL. 8 POWER AIRETTE INSTALLATION 2
THESE UNITS WERF NOT TESTED FOR WATER PENETRATION PER FBC. TAS 100(A). THEY CANNOT BE - CCWER AIRELIL LOMECNERTS 22

. . i

S TR G or TRRRE DR SR 0Y 0 POVER AIRETTE CONPONENTS 45

PennBorry 609 Shiloh RD Plano, TX 75074

PRODUCT REVISED POWER AIRETTE EXHAUST AND SUPPLY
Building Code e HOODED PROPELLER ROOF VENTILATIORS
NOA-No. 22-0901.03 GENERAL NOTES
Expiration Date 09/07/2027
e DRAWN WG NOL REY
By P AMIT 245550
Miami-Dade Product Control
SCALE IATE SHEET
NTS 09/09/2016 1 OF U1

JAN 25 2022


utrera
New Stamp


REVISIONS

|
APPROVED

1607 REV. DESCRIPTION DATE
A - _ -
| — _ 4
T T
i
—~ 74"
SIZE72 POWER AIRETTE EXHAUST RODOF VENTILATOR
EXTERILR VIEW
75" 39"
’ el | ]
1 APPROVED MIODELS
g HOOD SR, SIZE WEIGHT |WEIGHT
c z = 1 21! SIZES an AIR%%%”(H\%& HEIGHT (I Dﬁgg&g D%\L/Ta
' ' = = SUPPLY JEXHAUST LB | (LB
o4 48 39 26 o1 300 300
i 1 30 57 48 32 25 350 350
1 ] 3% & 57 39 25 50 | 450
o0’ S 42 75 66 44 29 625 | 625
48 84 75 50 29 750 750
SIZE48 POWER AIRETTE EXHAUST ROOF VENTILATOR SIZER4 POWER AIRETTE EXHAUST ROGF VENTILATOR 54 R 84 56 3 - 1000
EXTERIOR VIEW EXTERIIR VIEW 60 101x128 93 Y 33 - 1150
72 | 93x190 | 93x160 74 43 - 1350
PennBarry 605 Shiloh RD Plano, TX 75074 ! N ity
\\\,\\( A/«]“,, ”/,4’
\\ A q .
DR R orida POVER AIRETTE EXHAUST AND SUPPLY S ‘f:%:.\-v-\c ENSL
:g‘l':""“g Code HOODED PROPELLER ROOF VENTILATIORS S0 N R
Ay — GENERAL NOTES s ?
Expiration Date 09/07/2027 = e 3
B /7 IRAWRE WG NG » REV ,2% STATE OF j;"-'f::
y__ AMIT 24555~ EXON A RS
DESIGN PRESSURE Miami-Dade Product Control RN RN
RATING IMPACT RATING SCALE TATE SHEET “Z 2‘9&/(0OR '\‘Q%'_&({\‘:‘\\
£ 70.0PSF NOINE NTS 09/09/2016 °OF 1 NN

JAN 25 2022



utrera
New Stamp


REVISIONS

REV,

DATE

APPROVED

DESCRIPTION

TEM] PaRT NUMBER DESCRIPTION HANUFATURER | HAT.
1080300 VENTURT AC/AR2% 34SQ GALV__|PENNBARRY | GALV.
2 8003 AE 24 AIRSHAFT 1 PENNBARRY
3_p8oia AE 04 AIRSHAFT 2 PENNBARRY
4__pei7e-] AE 24 A FRAVE SUPPORT ANGLE _|PENNBARRY
5 18556-0 HS-HZ-AEP24 WOTOR&BRG PLT _ |PENNBARRY
603378 SHAFT STL 075 1800 PENNBARRY
750020 BUSHING H-0.75 -

3 ptede-0 PROP_AE24 —-

10 [i8560-0 HS-HZ-AEP24-36 MTR-BRG =
2103 FROP LOCK PLATE(HBUSHING -
7 [BALDOR 35LYEDD7 1262 MOTER -
13 pso1t HOOD_SUPPORT_ANGLE PENNBARRY
1418050 PIVAT LUG (AE 24-30) HRS —
508103 AE 24 HOOD T0P PENNEARRY
1608133 AE P4 HOOD SIDE SNAPLOCK | PENNBARRY
708146 AL 24 HODD ANGLE ITEN A PENNBARRY
EI AE 24 _HIOD_ANGLE ITEM B PENNBARRY
19 p494Ki3 BEARING, PILLOY BLOCK-0.75" -
20 962REAID] WHIZ NUT 25-20 -

Bl 95462AS15 HEX NUT 3/8-16 =
22 P1309A621 HEX HD BOLT 3/8-16 X 1AL -
23 190021-NID 3/8-16 X 10L CARRAGE BOLT -~
24 190010-K8 WHIZ BILT 1/4-20 X 1 -
25 190010-1115 WHIZ BOLT 3/8-16 X L5L -
261500130 NUT WHIZ 3/8-16 FLANGE -

POWER AIRETTE 24

\\\\\“““ ”!II[,”

PennBarry 605 Shiloh RD Plano, TX 73074 \\\\\\\\%:{ 1. HART/??””//

U MIREEIERIIN 2,

PRODUCT REVISED POWER AIRETTE EXHAUST AND SUPPLY _;\\\ Q’\,\ )
as complying with the Florida HDODED PROPELLER ROOF VENTILATICRS Swi No7azr
NOA-No. 22-0901.03 BILL OF MATERIAL = &L
Expiration Date 09/07/2027 {jpave DG NG, REV :%jﬂ
oy P AMIT 24555-0 20y STATE OF
Miami-Dade Product Control ///,@\S‘- ( OR \O C

STALE TATE SHEET %, ///\S‘/C, N ALE

NTS 09/09/2016 3 0OF H e

JAN 25 2022



utrera
New Stamp


TR DESCRIPTION MANUFACTLRER | MATERIAL
1 b8007-0 AE48 AIRSHAFT ITEM 1 PENNBARRY | GALV,
2 080170 AE48 AIRSHAFT ITEM2 PENNBARRY | GALV.
3 080470 AC48 HOOD SUPPLRT ANGLE PENNBARRY | GALV.
4 sl AEAS HOOD TOP TYPE A PENNBARRY | GALV.
5 p8l10-0 AE48 HOOD TOP END PENNBARRY | GALV.
6 [8l37-1 AE48 HOOD SIDE PENNBARRY | GALV.
7 b8154-3 AE48 HOOD ANGLE ITEM A PENNBARRY | GALV.
8 08155-3 AE4B HOOD ANGLE ITEM B PENNBARRY | GALV.
9 08074-0 AE36-72 PIVOT LUG PENNBARRY | GALV.
10 080340 AE48 VENTURI PENNBARRY | GALV.
11 [50246~0 AE4S PROP -

12 [08293-0 AEA8 A-FRAME SUPPORT ANGLE | PENNBARRY | GALV,
13 30100 IS0 VIB VIG6 L5DIA PENNBARRY | GALV.
14 }8591-0 AE48 MOTOR & BRG PLATE PENNBARRY | GALV.
15 57090-0 BEARING L00 PZB PENNBARRY | GALV.
16 [190010-k8 VHIZ BOLT 1/4-20 X 1 = =
17 033320 SHAFT STL 100 X 23.00 PENNBARRY | STEEL
18 [150010-DI5 WHIZ BOLT 3/8-16 X 15L -~ -
19 [55012-0 BUSHING P1-1.00 ~ -
20 [18653-0 AE48 MTR&BRG PLT SUPPORT ANGLE | PENNBARRY | GALV.
21 J90021-NI0 3/6-16 X LOL CARRAGE BOLT = =
22 190010-P8 WHIZ BOLT 3/8-16 X .75L — =
23 13094624 HEX HD BOLT 3/8-16 X L0L - —
24 B5462A515 HEX NUT 3/8-16 — —
25 190013-K WHIZ NUT 1/4-20 - —
26 BSLYMAST MOTOR — —
27 1190013-0 NUT WHIZ 3/8-16 FLANGE - =

REVISIONS

APPRUVED

DESCRIPTION

-

POWER AIRETTE 48 (10)

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 22-0901.03
Expiration Date 09/07/2027

By @é@,ﬁ

PennBarry 605 Shilon RD Plano, TX 75074

POWER AIRETTE EXHAUST AND SUPPLY
HOODED PROPELLER ROBF VENTILATIORS
COMPONENTS AND DETAILS

Miami-Dade Product Control

DRAWN:

AMIT

VG NI,

243350

REV

“Z

SCALE

NTS

DATE

SHEET

09/09/2016

4 OF 11

7, ///

S/ONALEN

iy

JAN 2 5 2072

W



utrera
New Stamp


TEH PART NUMBER DESCRIPTION MANUFACTURER MATERIAL S SR REVISIONS T AEPRTVED
i P72PT38 BEARING PENNBARRY GALV. - _ _
2 03373 SHAFT 1-7/16 X 30 TYPEZ PENNBARRY STEEL
3 804g AE 60 HOOD SUPP ANGLE |  PENNBARRY GALV,
4 08074-0 SUPPORT BRACKET PENNBARRY GALV,
5 118663-0 HS HZ AFPGD MTR&BRG PLT S - -
6 §18669-0-2  |AC72 MOTOR & BEARING PLAT PENNBARRY GALV,
7 l9166-0 AE72 VENTURI PLATE PENNBARRY GALV,
8  [19167-0 AE72 VENTURI COLLAR PENNBARRY GALV.
9 19168-0 AE72 A-Frame Angle PENNBARRY GALV.
10 o171 AE72 EXHAUST HOOD ANGLE PENNBARRY GALV.
1 hotre AE72 HOOD ANGLE SHORT PENNBARRY GALV.
12 {9173 AE72 HOOD SIDES LEFT EXH |  PENNBARRY GALV.,
13 [19174 AE72 HOOD TOP TYPE A EXH PENNBARRY GALV,
14 19175 AE72 HOOD TOP END PENNBARRY GALV,
15 19176 AE72 HOOD TOP TYPE A PENNBARRY GALV,
16 19489 AC/AF72 AIRSHAFT ITEM P PENNBARRY GALY,
17 19491 AC/AF72 AIRSHAFT ITEM 1 PENNBARRY GALY.,
18 {19500 AE72 HOOD SIDE RIGHT EX PENNBARRY GALV.
19 50466-0 PROP AL 72 30B-6 BOS @ - CAST AL
20 913094624 HEX HD BOLT 3/8-16 X 10L - —
£l 19346°8515 HEX NUT 3/8-16 —— —
22 [190016-K8 WHIZ BOLT 1/4-20 X 1 - —
23 [196010-015 WHIZ BOLT 3/8-16 X 15L -~ —
24 [1S6010-P8 WHIZ BILT 3/8-16 X 75L - -
25 190010-S15 WHIZ BOLT 1/2-20 X LOL - -
26 190013-K WHIZ NUT 1/4-20 — —
27 190013-0 NUT WHIZ 3/8-16 FLANGE -— —
28 190013-S WHIZ NUT 1/2-20 - —
29 1190021-N10 3/8-16 X 10L CARRAGE BOLT - - —
3¢ MOTOR 18T MOTOR - - PennBarry 605 Shiloh RD Plano, TX 75074
PRODUCT REVISED POWER AIRETTE EXHAUST AND SUPPLY
af,i‘f:i',‘,‘;'é’i,“dgew“h the Florida HOODED PROPELLER ROOF VENTILATIORS
NOA-No. 22-0901.03 COMPONENTS AND DETAILS
Expiration Date 09/07/2027 on VG 10, REV
By P AMIT 245550 3 S
Miami-Dade Product Control A : DlATE — Z//,i‘?”CONA\L‘%ﬁ\\\ \\\\\
NTS 09/05/2016 5 0F 11 T
JAN 2.8 7022



utrera
New Stamp


]

|

CURB &l
#l2 X 2" SELF j
DRILLING SCREW
METAL STRUCTURE

X

L { 1/16° MIN. EMBEDMENT
812 x 2 SELF
= DRILLING SCREW

o URB T0 BE_SEALED
;ﬁﬁﬂ RODE VITH FOLL

PERIMETER OF

J ) APPROVED SEALANT

7/8"MIN,

“‘EDGE DISTANCE

1 1/16" MIN. EMBEDMENT

42 o SELF
/ DRILLING SCREW

URB TO BE SEALED
10 ROOF WITH FULL
PERIMETER DF
APPROVED SEALANT

REVISIONS
REV, DESCRIPTIIN DATE APPROVED
B Increase fastener count for AC72 12/20/21 DH
Roof Curb to Roof Deck Anchors
4123 Maetal Roof Wood Roof Concreta Boof
(UNITTO X MIAX Fof i2x2" S.D.5|  #of12x2" Wood | 1/4"x2" Tapcons(#
CURB) of fasteners- PER | Screws (# of fasteners- | of fastenars- PER
SIDE} PER SIDE) SIDE)

AC24 16 2 20(5 per SIDE) 20 {5 per SIBE) 20{5perSIDE)

AC30 16 3 24{6 per SIDE) 24 {6 per SIDE) 24 {6 per SIDE)

AC36 16 3 28 (7 per SIDE) 28 (7 per SIDE) 28 (7 per SIDE)

ACA2 16 3 287 per SIDE} 28 {7 per SIDE) 28 {7 per SIDE]

ACA8 16 3 32 (8 per 5/DE} 32 {8 per SIDE) 32 (8 per SIDE)

AC54 20 3 36 {9 per SIDE) 36 {9 per SIDE) 36 {9 per SIDE)

ACED 20 3 36 (9 per SIDE) 36 {9 per SIDE} 36 {9 per SIDE)

ACT2 32 3 52 (13 per SIDE) 64 (16 per SIDE) 48 (12 per SIDE)

1 ]
C : : FR
0 A= =1 1/16” MIN. EMBEDMENT
X - #12 x 2* SELF

CURB

CONCRETE
BY [THERS

1 374" MIN._]

EMBEDMENT

4"2"”--—-—

DRILLING SCREW

CONCRETE SLAB ROOF

2 /2" MIN.
EBGE DISTANCE

URB T BE SEALED
TD ROOF WITH FULL
PERIMETER
APPROVED SEALANT

174 TAPCON

[F

PRODUCT REVISED

as complying with the Florida
Building Code

BY [OTHERS | | !
g,
S, |1l
8 e
4‘12"/,"_"" e
METAL FRAMED ROOF
{ -T .
XW bk e ~ganen
CURB 1 .
WOOD FRAMING I ®
BY OTHERS . NG | ;
, < .
i 2 ¥ p* \OOD SCREW
5 , E , %—#za X2 C
j_é_ MIN‘ ""'j e ; PPN
5;/ 9/16#
EMBD. ] 23 |
P - EDGE
. WOOD FRAMED ROOF DISTANCE
NOTES:

1. ALL FOUR SIDES OF CURB AND BASE ARE ANCHORED IDENTICALLY.

2. ROOF CURB IS INSTALLED TO ROOF FIRST. ONCE CURRB IS INSTALLED FAN IS
ATTACHED TO CURB USING #12x2° SELF DRILLING SCREWS AS SHOWN ABOVE.

3. SEE SHEET 8 OF 11, COMPONENTS FOR ROOF CURB CONSTRUCTION.

4. UNITS MAYBE INSTALLED WITH, ALUMINUM 3003-H14 CURB OR GALVANIZED
STEEL CURB.

NOA-No. 22-0901.03
Expiration Date 09/07/2027

By “’%%y

PennBarry 605 Shiloh RD Plano, TX 79074

POWER AIRETTE EXHAUST AND SUPPLY
HOODED PROPELLER ROOF VENTILATIORS
INSTALLATION DETAILS

Miami-Dade Product Control

IRAWN

AMIT

DWG N

24355~

REV

SCALE

NTS

BATE

09/09/2016

SHEET

6 OF I

.......

.......



utrera
New Stamp


REVISIONS
K REV, DESCRIPTION DATE APPROVED

A - ~ -

#lox 2' SELF BRILLING/ g e 5
SCREW TO ANCHOR

UNIT TO CURB

#12x 27 SELF DRILLING
SCREW TO ANCHOR
UNIT TO CURB

i)
2

ANCHORS FOR
ATTACHING CURB ' 5G¢
TO SUBSTRATE =

SEE SHEET 6 OF t—
N, . ANCHORS FIR /]

ATTACHING CURB
T SUBSTRATE
SEE SHEET 6 OF U

| /
/ 83”
5 49" . , g ]
ACA8 PLAN VIEW INSTALLATION DETAILS

o

AN

k-

]

HOOD & INTERIOR COMPONENTS ARE NOT SHUWN FOR CLARITY
(SEE PAGE ¢ FOR FASTENER LOCATIONS B

. X __-_______XI____,___ /
g 72 3/4*

#lox 27 SELF DRILLING

i A L °
©
_\k‘]w - 14 il k) [+
R s ) :
T0 SUBSTRATE  /  AC72 PLAN VIEW INSTALLATION DETALLS
SEE SHEET & OF 11 n |1 B RIS PR PATENER LECATIINS)
PennBarry 605 Shiloh RD Plano, TX 75074 \\\\\\\\g{\“\}f‘mg%”;’//,@
] A PRODUCT REVISED POWER AIRETTE EXHAUST AND SUPPLY &
¢ 2y Building Gode e Flonda HOODED PROPELLER ROOF VENTILATIORS
AIRSHAF T E 0 NOA-No.__ 22.0001.03 COMPONENTS DETAILS
+ Expiration Date 09/07/2027 o e T
£ _
AC24 PLAN VIEY INSTALLATION DETAILS B e Produst Contra ANIT 245550
HOOD & MPLUNENTS AR RITY ] SCAE TaTE SHEET
(SEE PAGE 6 FOR FASTENER LOCATIONS 1 NTS 09/09/2016 7 OF 1
JAN"Z 57077



utrera
New Stamp


REVISIONS
REV, DESCRIPTION DATE APPROVED
A - - —
15 ) %
\‘\\
eyt
318 DENSITY
" FIBER GLASS , INSULATION )
i INSULATICN frge s
CONTINOUS ’
WELDED
CORNERS
< & TYP.
/
\

UPTIONAL ROOF CURE
ALUMINIUM 3003-H14 10GA, 0.125" THK.
MI VALUE 1 X= 511390

ROOF CURB
18GA G-90 GALV, STEEL

MI VALUE @ X= 205405
Y=0,3060

Y= 0.7384

BASE PLATE TO
CURB_FLANGE TYP.

CONTINOUS WELD FRIM CORNER
EACH FLANGE .

1 TYP

6" SPACING
1 IS
16 B i
%? L PennBarry 605 Shiloh RD Plano, TX 73074 \\\“Q\““- ¥ A,%%Z%’
SR g7,
J PRODUCT REVISED POWER AIRETTE EXHAUST AND SUPPLY FONCENs T
:lc‘)illii:q‘g Code 99090103 HOODED PROPELLER ROCF VENTILATIORS 55* 0.73227
DETAIL N Expiration Date09/07/2627 INSTALLATIDN BETAILS 2—0%
SCALE 112 P T mRAwN IVG B REV =z 07 -
B £ _ 25y~ STATE OF
M)i,ami—Dade Product Control AMIT 245350 ,,///?(\A
SEALE DATE SHEET . /’O,,S'«S‘/O
NTS 09/08/2016 8 OF 11 Uity
JAN 25 2622



utrera
New Stamp


13 4
5
i o - 1—‘ - i
| | |
|
; | I i
| 47
| | | |
i ? I Il
I I N
1
l #
417 e
ACCESS HOOD ASSY.
TOGACI3Y, GALY, STEEL
1he—

HOOD SUPPORT ANGLE
1GAQIZ5D, GALV, STEEL

23",

-

1

-b-!’—‘

REVISTANS
REV. DESCRIPTION DATE APPROVED
A - - -
POWER AIRETTE 24
26"
}.3 ']i'é"d 16 %J
[ | B
i !
AIR SHAFT 2
16GACD,06M, GALV. STEEL
26"
* + + + + + + + ?5
Pt 13 7" 34
i6 16 3
“4 2! l . - | I
PIVOT LUG ! 35 l
1747 THK,
AIRSHAFT 1
16GA<0,065, GALV, STEEL
PennBarry 603 Shitoh RD Pleno, TX 73074
PRODUCT REVISED POWER AIRETTE EXHAUST AND SUPPLY
Building Gode o onan HOODED PROPELLER ROOF VENTILATIORS :
NOA-No. 22-0901.03 COMPONENTS DETAILLS £
Expiration Date 09/07/2027 g e T REV F—
By AMIT 245550
Miami-Dade Product Control
SCALE DATE SHEET
NTS 05/09/2016 9 0OF U

JAN 29 8



utrera
New Stamp


REVISIONS
78 REV, DESCRIPTION DATE APPROVED
POWER AIRETTE 48 A = - -
13 5/16 6 23/64
[ ; | | |
| : Al SHAFT ITEME
{ 16GACC.06", EL
! 78
| | | | -
| | 13 9/16 16 23/64
| i _i -
| — & 2 | ! —
, | 59 |
e “g‘EWDDTE‘ASESI‘“ | ye-l— -2
AIRSHAFT ITEMI
16GAC0BD, GALV, STEEL
PIVOT LG
[74" THK,
] ] 2
ij A o ﬁ l PennBarry 605 Shiloh RD Plano, TX 75074 \\\\\\g\\{\\%\fsm%%;/%
e 3 PR R D orida POVER AIRETTE EXHAUST AND SUPPLY ) _‘T‘g& !
NoAG. " 5.0001.03 HOODED PROPELLER RODF VENTILATIORS ‘
Expiration Date 09/07/2627 CDMPBNENTS DETAILS
By /’ DRAWH DVG NG REV
HBBD SUPPBRT ANGLE Miami-Dade Product Control AMIT 84555*0
11GAM,1257, GALV. STEEL SCALE TATE SHEET
NTS 09/09/2016 oOFn

JAN 2 5 2022


utrera
New Stamp


REVISIONS

REV, DESCRIPTION DATE APPROVED

164 |
POWER AIRETTE /2 A

74 -

22 /16 25 7/64

- 83 -

AIR SHAFT ITEM 2
16GAC,067M, GALV, STEEL

97 5/64
— 74
ey
. 22 1/16 25 7/64
ACCESS HOOD ASSY, i I |
10GA0I3"), GALY, STEEL @ 2
1 1721 o] I 03 l
AIR SHAFT ITEM 1
SUPPORT BRACKET 16GA0.06", GALV. STEEL
1747 THK,
—e
5 !
/ &£ T 1 PennBarry 605 Shiloh RD Plano, TX 73074 \“\\\\“‘\(\\\T\%‘m‘i%[]{f’é’ ",
“ | 3ot & @‘?‘?\7"@'%&”'--4/]/”&
97+ :fgggﬁ:gsvﬁ‘ﬂffgoﬁ da POWER AIRETTE EXHAUST AND SUPPLY SERGH Sl 2
Building Code 29000103 HOODED PROPELLER ROOF VENTILATIORS 55*;' 0. 73227 "-..*22
HO0 SUPPTRT ANGLE Expiration Date 09/07/2027 _ NfDMPDNENTS DETALLS : E—%. wf
e ' e A ~ 2% STATE OF (7§
;)i,ami—Dade Product Control AMIT 24555-0 ///’/{:?\\A( OR \0}('9\%\\*{‘
SEALE TATE SEET %,i@/d&&i&’\t\\\\&
NTS 09/09/2016 11 BF 1 f’/ll“““m\\\\\\\
—AN-2-5-2022—



utrera
New Stamp


	NOA 22090103 Doc
	NOA 22090103 Dwg

